1.5-mile run/walk VO2MAX Protocol
When selecting a VO2MAX protocol, it is important to understand several things:
· Equipment needed vs equipment available: treadmill, heart rate monitor, step, metronome, etc.
· Your client: 
· Risk stratification or mobility issues: knee problems? use a bike instead of a step; on blood pressure medication? do a submaximal versus a maximal test protocol
· Exercise habits/experience: if your client is an avid runner, you wouldn’t use a cycle ergometer or step test protocol, you’d use a treadmill
· Weight: an overweight individual may have stability problems, thus a step test or treadmill test may not be appropriate
· Age: same for an older adult with mobility/stability problems
Before starting any test, be sure you have taken:
· Medical health history and Risk Stratification
· Resting heart rate and blood pressure
· Clients age, height, weight, sex
Protocol:
1. Equipment needed:
a. jogging track 
b. stop watch
2. Instruct your client to complete 1.5 miles as fast as possible.
3. Record their finishing time.
4. Perform the calculation below.
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Table 4.7 Prediction Equations for Cardiorespiratory Field Tests

Field test Equation? \ Source
DISTANCE RUN/WALK
1.0 mi steady-state jog VOemax =100.5 - 0.1636(BW, kg) — 1.438(time, min) — 0.1928(HR, bpm) George et al. (1993)
+ 8.344(gender)®
1.0 mi run/walk (8-17 yr) VOzmax =108.94 — 8.41(time, min) + 0.34(time, min)? + 0.21(age x gender)> | Cureton et al. (1995)
- 0.84(BMI)®

1.5 mi run/walk

VOzmax =88.02 - 0.1656(BW, kg) — 2.76(time, min) + 3.716(gender)®

George et al. (1993)

1.5 mi run/walk

VOzmax =100.16 + 7.30(gender)® - 0.164(BW, kg) — 1.273(time, min)
—0.1563(HR, bpm)

Larsen et al. (2002)

Women: \'IOZmax (Lmin-!) = 3.750 [(BW - 3) / (HR - 65)]

12 min run VOzmax = 0.0268(distance, m) - 11.3 Cooper (1968)
15 min run \’IO,max = 0.0178(distance, m) + 9.6 Balke (1963)
1.0 mi walk \'IOzmax =132.853 - 0.0769(BW, Ib) - 0.3877(age, years) + 6.315(gender)® Kline et al. (1987)
—~ 3.2649(time, min) - 0.1565(HR, bpm)
STEP TESTS
Astrand Men: VO,max (Lmin-) = 3.744 [(BW + 5) / (HR - 62)] Marley and Linnerud

(1976)

Queens College

Men: VO,max = 111.33 - (0.42 HR, bpm)
Women: \'Iozmax =65.81 - (0.1847 HR, bpm)

McArdle et al. (1972)

“All equations estimate VO,max in ml-kg--min-' unless otherwise specified.
bFor gender, substitute 1 for males and 0 for females.
“BMI = body mass index or body weight (body weight [BW] in kg)/ht? (in meters).

HR = heart rate; m = meters.





